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1. Use logarithmic differentiation to find _y’ where y = TVar—2 > — ).
dx (x+1)2 3

4
2. Find (1) / “\;62

x?—1

— dx.
v2r —1 o

4
du (2)/ 2% — 9| dx.
0

3. Find

2'2

4. Let f(z) = vz, %= (0<i<n),Ar;=z; —2;_1 (1 <i<n),and
[|A] = max{Azy, Axs, ..., Az, }. Find (1) || A () g flz) Az, (3) lim E f(z;) Az
n—oo
i=1 i=1

4 _
5. Find/w dz.
242

6. Find /4 v/ 1+ tan? z dz.
0
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limit as a definite integral. Then ||iiﬁn E \/ sz +4 Ax; = / Va2 +4dx
—0 £ 0
=1

1 1 0
If/ f(x)dx = Oand/ f(x)dx = 5,then/ f(x)de= —5
-1 0 -1
2
3. Evaluate/ V4 —a2?de = 2r
—2

Let ¢; be any point in the 7th subinterval of a partition /\ of the interval [O, 3]. Write the following

: k
If the average value of f(:L‘) = SIn x over the interval [0, ™ ] is —, thenk = 2
v
3

X
IfF(ZL‘):/ sint? dt and F'(x) = ax’sinz® thena + b+ c = _11
0

(V]

6. Evaluate / (sin® z cos & + sin x cos =) dx

=0
If f(2) = In| cos x|, then f'(z) = — Ty
COS T
e (1 1 2
If/ ﬂ dr = ER thenm = 7 (M is an integer)
1 T

cost
.Evaluate/—_dt In|l+sint| +C
1+ sint
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|| TV d S 5.1 — % 48 77
(x+1)2 |z 2Bx—2) z+1
2 64
2 (CL) g, (b) ? 4.4 — 3;53 %E 17,27
5 1 3 3
3| gpr DI+ (217 - 20— 1) +C 45— % 35 57
o — 1 2 1 1 2
4 b) S+ — — z 4.3 — w4E 1*
x? 1 .
5| 5 -2+t 240 5.2 — ¥ 4L 21
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